G?a v @ Exponentes negativos de 10

Nombre: Fecha: Puntuacion:
286, 4 x 107 = 1 x10% =
1 x10= 0x10% =
1002 = 1003 =
107 = 330,9 x 1009 =
1002 = 848,2+ 107 =
10" = 529,1+ 1002 =
6 10 = 04 —
1072 = 100D =
3x 1009 = 3% 0% =
1009 = 100D =
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Chid REL:

Exponentes negativos de 10

Nombre:

286, 4 x 107 = 0.2864
1%x10=10

1072 = 0.01

107 = 0.0001

107% = 0.01

1077 = 0.1

6 % 10 = 60

1072 = 0.01

3% 107% = 0.0003

10°% = 0.0001

Fecha: Puntuacion:

1 x 10* = 100

9 x 10% = 900

107 = 0.001

330,9 x 10 = 0.3309
848,2 + 10* = 8.482
529, 1+ 1072 = 52910
107 = 0.0001

1077 = 0.1

—3 x 10% = =300

1000 =01
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